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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1a 270 4.3 1.5 8 53.3 69.8
1b 270 5.3 1.3 8 66.5 69.8
1c 270 7 2.1 12 58 69.8
1d 269 7.3 2.1 12 60.4 69.5
2a 117 4.8 1.2 8 60.1 30.2
2b 117 5.1 1.5 8 64.3 30.2
2c 117 8.1 1.4 12 67.6 30.2
2d 117 6.8 1.9 12 56.6 30.2
3 172 13.1 2.8 20 65.5 44.4
4 157 12.6 2.6 20 62.9 40.6
5 58 12.3 2.9 20 61.5 15
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Line

Line

Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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2.	 British economy faces threat of lost decade

	 A week in which the UK’s high street looked to be on course for total collapse has raised fears 
that we could now be in the middle of a long period of stagnation.

Figure 1 – GDP by sector

© WJEC CBAC Ltd.

Figure 2 – UK house prices

Figure 3 – UK mortgage rates
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Figure 4 – UK consumer spending
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There could be few better symbols of the fragile state of Britain’s recession-hit economy 
than the news that with HMV and Blockbuster joining the dismal list of retailers forced into 
administration, an extraordinary 1,400 shops on high streets up and down the county are now 
at risk of closure within less than a month. Together with the boom in Internet sales, the chronic 
weakness of consumer demand in Britain’s stagnant economy has been a key factor in driving 
so many well-known names out of business.

If, as many City analysts expect, official figures reveal on Friday that the UK economy slipped 
into reverse in the final quarter of 2012, Chancellor George Osborne will face fresh questions 
about whether the UK is heading for its own “lost decade”.

David Kern, chief economist at the British Chambers of Commerce (BCC) which represents 
many smaller firms, says he backs the Chancellor’s broad aim of tackling the deficit, but 
believes spending in some key areas could be increased without him losing credibility. That 
might mean, for example, improving the country’s infrastructure, such as transport, schools and 
hospitals. Peter Spencer, of forecasting group the Ernst and Young Item Club, agrees: “If the 
Government tries to create growth through spending on infrastructure – let’s say £15bn, financed 
by borrowing – over time it would get it back in tax and reduced unemployment benefits.”

With little hope that Osborne will relax his grip on the finances, one area some economists 
feel it is ready for a rethink is the role of the Bank of England in guiding the economy. Mark 
Carney, the Canadian hired by Osborne to take over from Sir Mervyn King as Bank of England 
Governor this summer, sparked excitement before Christmas when he suggested that it might 
be time to drop the inflation-targeting regime that has evolved since the 1990s.

Carney suggested that when, as now, interest rates are near zero and growth is weak, it might 
be right for central banks such as the Bank of England to take more radical action. It should be 
announcing that it plans to keep interest rates low for a long time, at least until mid-2015.

If that should fail, he added, the inflation target could be dropped. At times when growth is 
very low, a bit of inflation should be less of a concern than the impact on the economy of a 
long period of stagnation. The Bank should be able to forget its concerns about inflation and 
go all out to kick-start growth. Spencer at the Item Club backs a change of regime: “It’s the 
combination of inflation and growth that is important.”

5

10

15

20

25

30

UK consumer spending 2008-12
% annual change

%
 a

nn
ua

l c
ha

ng
e

3.0

1.0
0.0

–1.0
–2.0
–3.0
– 4.0
– 5.0
– 6.0

2.0

20
08

 Q
1

20
08

 Q
2

20
08

 Q
3

20
08

 Q
4

20
09

 Q
1

20
09

 Q
2

20
09

 Q
3

20
09

 Q
4

20
10

 Q
1

20
10

 Q
2

20
10

 Q
3

20
10

 Q
4

20
11

 Q
1

20
11

 Q
2

20
11

 Q
3

20
11

 Q
4

20
12

 Q
1

20
12

 Q
2

20
12

 Q
3

20
12

 Q
4



7

© WJEC CBAC Ltd.

However, even within its current target of keeping inflation close to 2%, the Bank has ignored 
its target and allowed inflation to remain higher than the target rate, because, as King has 
repeatedly argued, bringing it back down to 2% more rapidly would have led to an even deeper 
recession and higher unemployment.

However Adam Posen, a former member of the Bank of England’s Monetary Policy Committee 
(MPC) is cautious about dropping the inflation target, despite calling for the Bank to take more 
aggressive action, such as lending directly to cash-starved businesses. He warns that ditching 
the inflation target might immediately be seen by financial markets as a decision to let inflation 
rise.

Instead of changing the monetary policy regime, Posen would like to see Chancellor Osborne 
relax his grip on the nation’s purse strings and abandon his obsession with cutting the public 
sector deficit. “When you’ve implemented a policy and it hasn’t worked, it is time to change the 
policy.”

A climbdown would be humiliating for a Chancellor who has pinned his reputation on continuing 
austerity, but the weak recovery, which has seriously damaged the Treasury’s fiscal plans, has 
already resulted in Osborne having to extend the planned period of austerity for three years 
longer than he had hoped, to 2017-18.

Copyright Guardian News & Media Ltd 2013
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(a)	 Using the data in Figure 1, explain how the output of different sectors of the economy 
changed between 2008 and 2012.	 [8]

(b)	 Explain possible reasons for the changes shown in Figure 1.	 [8]

(c)	 Discuss the possible effects of the Bank of England “announcing that it plans to keep 
interest rates low for a long time, at least until mid-2015” (line 26).	 [12]

(d)	 Discuss the argument that George Osborne should “relax his grip on the nation’s purse 
strings and abandon his obsession with cutting the public sector deficit” (lines 42-43).

[12]

















Sticky Note
Unlike most answers this does at least contain some calculation of percentages from the index numbers. Relevant trends are identified and a little more development would have attracted full marks. 





Sticky Note
This answer addresses changes in the three sectors appropriately and contains good relevant explanation. As with (a) a little more development would have attracted full marks. 





Sticky Note
This response starts very well but is never fully developed. The diagram is appropriate and explained in a relevant manner but there is limited range and depth of explanation. 





Sticky Note
The candidate articulates some of the basic issues around public deficit reduction e.g. the burden on future generations, unemployment and international competitiveness. There is some limited evaluation but generally the response needed to be more detailed and more theoretically-based, for example with the use of appropriate diagrams.

















Sticky Note
This is a good attempt to explain trends with the use of topical examples (something which few candidates actually did).

Sticky Note
As with many answers to this question manipulation of the data is limited although at least some attempt is made. Again there is no real understanding of index numbers.





Sticky Note
There are some good well-explained arguments and evaluation in this answer. The data is well-used and developed. With more theoretical development e.g. use of diagrammatic analysis this could have achieved full marks.





Sticky Note
Some good arguments are outlined here but they are not fully developed and there is only limited evaluation of the statement. 



















Sticky Note
This illustrates the limitations of many responses to this question in that there is little attempt to manipulate the data by calculating percentage changes or comparing trends. The candidate takes the index numbers for granted and makes what are actually almost meaningless statements e.g. “construction output ……..a new low of 83 in 2009 Q1”. 





Sticky Note
This explains the basic point that services are possibly less vulnerable to international competition than goods and does briefly explain the possible effect of recession on construction output. A little more development would have led to full marks.





Sticky Note
This is a high-quality response, identifying a range of effects of maintaining low interest rates with good evaluation and an appropriate diagram. 







Sticky Note
This answer identifies and develops a range of arguments which are well-developed and use appropriate theory. The diagrams are suitable if rather small and could have been used to illustrate the argument in more detail in order to achieve full marks. 
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SECTION B

Answer one question from this section.

3. Discuss the view that a policy of significant cuts in the rates of all taxes is the best way to create
long-term growth.	 [20]













Sticky Note
This answer could have benefited from a more appropriate introduction referring specifically to economic growth. It does however contain a good basic explanation of how tax cuts might affect macroeconomic variables, even if the references to ‘accelerator mechanism’ were not obviously relevant. With more diagrammatic analysis this answer would have been rewarded with higher marks. 
It is often useful for a candidate to ‘reflect the question’ by explaining the basic terms and concepts contained in it. This should help a candidate to focus upon answering the question directly.












Sticky Note
This answer unfortunately starts with a poor definition of economic growth. The introductory diagram, however, is appropriate and well-explained. Surprisingly many candidates simply stated that lower taxes will increase consumption and investment. This answer explains why this might be so and gained appropriate credit. There is also some good explanation of the general effects of cutting direct and indirect taxes but limited understanding of the effects of particular taxes. 







Sticky Note
This was generally a good answer but would have been closer to full marks with more specific illustrative examples and appropriate evaluation. 











Sticky Note
This starts well, referring directly to the question of the link between tax cuts and economic growth. Unfortunately, however, the diagram is poorly drawn and inaccurate.  The candidate refers to different taxes albeit with limited development of how these affect growth. 








Sticky Note
The answer proceeds to mentioning monetary policy as an alternative but fortunately does not stray away from the required focus on tax cuts and growth. There is mention of other policies for growth with some evaluation. Better diagrams and more thorough evaluation would have led to a higher mark. 
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Question Answer 
Mark 


allocation 
Assessment 


objective 


2. (a) Using the data in Figure 1, explain how the output of 
different sectors of the economy changed between 
2008 and 2012. 


Level 1 Identification of different rates 
e.g. services maintained output over period/ 
fell until 2009 and rose afterwards 
industry and construction fell (approximately 
13% and 18% respectively) 
construction fell most. 1 – 4 marks 


Level 2 Development using data 
e.g. construction fluctuated most 
Use of percentages e.g. industry and 
construction fell 
(approximately 13% and 18% respectively). 


5 – 8 marks 


8 AO1 4 
AO2 4 
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Question Answer Mark 
allocation 


Assessment 
objective 


 (b) Explain possible reasons for the changes shown in 
Figure 1. 
 
Level 1 Explanation of possible causes 
 e.g. falling house prices reduce construction 


output and house-related industries e.g. white 
goods, furniture, DIY consumers reducing 
spending on durables may reduce industry 
output 


 world recession likely to hit industry rather 
than services 


 service employment supported by high 
percentage of jobs being in public sector 


 manufacturing and construction more reactive 
to changes in GDP/income. 1 – 4 marks  1 – 4 marks 


 
Level 2 Development using 


figures/percentages/explaining effects of 
economic variables e.g. income elasticity of 
demand, wealth effect, multiplier effects on 
different sectors. Effect of recession/growth.  


5 – 8 marks 
 


8 
 


AO1 4 
AO2 4 


 


 (c) Discuss the possible effects of the Bank of England 
“announcing that it plans to keep interest rates low for 
a long time, at least until mid-2015”. 
 
Level 1 Explanation of possible advantages of  
 committing to low interest rates 
 beneficial for housing market and related 


industries  e.g. might encourage people and 
firms to increase consumption and investment 


 might foster more optimistic expectations 
 may help to keep exchange rate 


competitive/help to reduce trade deficit. 
 Theoretical development e.g. rising AD/AS. 
  1 – 6 marks  1 – 4 marks 
Level 2 Evaluation of policy may indicate lack of 


commitment of controlling inflation 
 low interest rates may discourage saving 
 capital inflows may fall 
 exchange rate may fall and increase inflation 
 effect may be long-term  
 won’t work unless consumer and business 


confidence strong/other factors may be more 
relevant than interest rates. 7 - 12 marks 


 
 


12 AO3 6 
AO4 6 
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Question Answer Mark 
allocation 


Assessment 
objective 


 (d) Discuss the argument that George Osborne should 
“relax his grip on the nation’s purse strings and 
abandon his obsession with cutting the public sector 
deficit.” 
 
Level 1 Explanation of case for abandoning 


concentration on public sector deficit 
 e.g. reducing quality of public services 
 causing job losses and higher social security 
 payments/lower tax revenue 
 reducing confidence 
 downward multiplier effects because of public 


spending cuts 
 may lead to high interest rates 
 more important to create growth and 


employment 
 lower provision of merit goods e.g. health 


education may reduce LRAS 
 alternative is permanent stagnation 
 lower interest rates not working 
 could use supply-side policies. 1 – 6 marks 
 
Level 2 Evaluation of abandoning “austerity” 
 e.g. may reduce confidence in the economy 
 possible inflationary effects 
 may discourage foreign investment/need to 


maintain confidence of international financial 
markets 


 possible effects on exchange rate 
 might make UK uncompetitive 
 higher Government spending may lead to 


higher interest rates/crowing-out/bad effect on 
housing market 


 GDP rising again after 2009 so policy must be 
working. 7 – 12 marks 


 


12 
 


AO3 6 
AO4 6 
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Section B 
 


Question Answer Mark 
allocation 


Assessment 
objective 


3.  Discuss the view that a policy of significant cuts in the 
rates of all taxes is the best way to create long-term 
growth. 
 
Definition of long-term growth e.g. increase in 
LRAS/outward shift of PPC, distinction between growth 
and recovery, descriptive explanation of effect of tax cuts. 
 
Explanation of how tax cuts may affect growth using 
appropriate theory e.g. AS/AD analysis 
e.g. higher disposable income if personal taxes cut 
tax cuts create incentives to effort/enterprise/investment 
higher retained profits for investment if corporation taxes 
reduced 
higher potential profitability 
cutting excise taxes will lower prices/inflation/create 
negative externalities 
e.g. higher alcohol and tobacco consumption 
cutting customs duties may increase imports 
will increase aggregate demand 
creation of confidence. 
May increase tax revenue/Laffer curve. 
 
Evaluation 
e.g. may have only short-term effects if AS is 
unresponsive 
depends upon level of output 
possible inflationary effects 
may increase imports/widen trade deficit 
need for supply-side policies to accompany fiscal policy if 
LRAS is to shift. 
Other policies better (answers must focus mainly on tax 
cuts). 
 
Level 4 answers should refer to possible effects on other 
macroeconomic variables/whether policy would work 
e.g. inflation, imports, time-lags before policy takes effect. 
 


20 
 


AO1 4 
AO2 4 
AO3 6 
AO4 6 
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